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11 (5x +3y) (5x —3y) 2 (6x—2) (6x—3) 2RO
= (5x) 2 —(3y) 2 6x=A4 t.5<
= 25x° — 9y~ = (A—2)(4-3)
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= 4’54 +6
= (6x)° —5x6x +6
= 36x° —30x +6
3] (9a +2b)> 4] (2x —dy)> 2HO
9a=A4,2b=B +5< 2x=A,4y=B <
= (4+B)° = (4 —B)°
= A°+24B + B’ = A’ —24B +B”’
= (9a)” +2x9ax2b + (2b)° = (2x)° —2x2xx4y + (4y)°
= 81a’ +36ab +4b° = 4x” —I6xy +16y°
(5] (7a +4b) (7a —b) 2=x® (6] (4x—3y) (4x +35y) NX@

7a=A t5<
= (A +4b)(4 —b)
= A° +3b4 —4b°
= (7a)’ +3bx7a —4b°
= 49¢° +21ab —4b°

= (4x)° —(5)°
= J6x° —25y2

T/ 7+ R

20T MEER Y a— FTEET, https://monomanabi.co




	Sheet1



